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Question 1
Question Type: MultipleChoice

A system administrator wants to create a dashboard from widgets.

Which three widgets are available? (Choose three.)

Options: 
A) Top-N Widget

B) Metric Chart Widget

C) Symptoms Widget

D) Weather Map Widget

E) Report Widget

F) Interaction Widget

Answer: 
A, B, E



Question 2
Question Type: MultipleChoice

A customer has multiple vCenter Servers in an East Coast datacenter (primary site) and one vCenter Server in each remote datacenter

location (Chicago, Japan, and San Francisco).

The following information is known:

They want to monitor vCenter Server Instances in all these datacenter locations from single product UI.

Network latency between these datacenters is 50 milliseconds.

Which vRealize Operations cluster configuration is valid?

Options: 
A) Deploy vRealize Operations cluster in the primary site and Data nodes in each remote site.

B) Deploy vRealize Operations cluster in the primary site and a Remote Collector node in each remote site.

C) Deploy vRealize Operations cluster in the primary site and a Witness node in each remote site.

D) Deploy vRealize Operations cluster in the primary site and a Primary Replica node in each remote site.

Answer: 



B

Question 3
Question Type: MultipleChoice

A system administrator wants to create a dashboard from widgets.

Which three widgets are available? (Choose three.)

Options: 
A) Top-N Widget

B) Metric Chart Widget

C) Symptoms Widget

D) Weather Map Widget

E) Report Widget

F) Interaction Widget

Answer: 



A, B, E

Question 4
Question Type: MultipleChoice

A customer has multiple vCenter Servers in an East Coast datacenter (primary site) and one vCenter Server in each remote datacenter

location (Chicago, Japan, and San Francisco).

The following information is known:

They want to monitor vCenter Server Instances in all these datacenter locations from single product UI.

Network latency between these datacenters is 50 milliseconds.

Which vRealize Operations cluster configuration is valid?

Options: 
A) Deploy vRealize Operations cluster in the primary site and Data nodes in each remote site.

B) Deploy vRealize Operations cluster in the primary site and a Remote Collector node in each remote site.

C) Deploy vRealize Operations cluster in the primary site and a Witness node in each remote site.



D) Deploy vRealize Operations cluster in the primary site and a Primary Replica node in each remote site.

Answer: 
B
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